Rivet 3.1.10, = 2.6M events

8000 GeV pp Jets
a9 I T I T I T I T T I T I T I T I T T I T
= B | | ]
= 102 = AQ(jj) (pTlead > 1100) —
olS E -
Sl [ = cwms .
—Io -~ —4— Pythia 8.308 default —
10 = —— Pythia 8.308 tune-A14-CTEQL1 _—
; ------ Pythia 8.308 tune-A14-MSTW2008LO ;
e Pythia 8.308 tune-A14-NNPDF2.3LO 7]
— ---- Pythia 8.308 tune-CUETP8S1 u
1 =
107 - =
1072 - =
107 =
Iy | | | | | | —
:| T T T | T T ' —
2 F E
% N — -
= - _
O B |
O
9 1
IS n
2
0.5 — N
1 1 1 1 | 1 1 1

25

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


